INSTRUKCJA MONTAZU

ASSEMBLING INSTRUCTIONS

ARNO SOFA

2020 /07

.

—

o

Prosze zapoznac sig
z instrukejg
przed rozpoczeciem
montazu.

Before starting refer
to the assembling
instruction.

‘Elementy w zestowie

ped
an

.y
!
e
[T]

M8*70 mm 8*22 mm|] M6*50 mm

vl

% 2

\
N
S

>
0

T

TI




Po obu stronach odkrec sruby.

6*40=
4
Lo ] - ®
15 N .
LAk
> n M6*40
T em o g
3
_! M6*40




(7"l

NONCES
x

N @ oY)
x [










E
M6*50 mm
vl

¥ 2

7










